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Question Number : 1 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1

If A={1, 2, 3, 4}, then the number of
functions on the set A, which are not

one - one, 1s :
Options:
1 232

Qcollegedunia;



%240

Question Number : 1 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

AEA ={1,2,3,4} &, T =T A R Fer
Hﬁmﬁﬁlﬁ?ﬁ?ﬁ%

Options:
1. 232
2 240
3. 248
4. 256

Question Number : 1 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

od A={1,2, 3,4} i, ol 2is-2l5 4 &1 sl
3L A Y-l [l avan sedl 2y

Options:
1. 232

2. 240

Qcollegeduniag



Question Number : 2 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The sum of the values of x satisfying the
equation, Jr(Vx—4)-3 Wx—2+6=0
(x=0),is:

Options:
1. 26

Question Number : 2 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

THFO Jx (/5 —4)-3 |Wx —2+6=0
(x=0) T T FH Tl x F AT FH ATEA
T

Options:
1 L 25

Qcollegedunia%



Question Number : 2 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1
wllsrelx (Vx —4)-3 Wx =2 +6=0 (x=0)
o 23 52l v AL Exedl Al 2ol

A1,

Options:
1. 26

Question Number : 3 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1
If m be the least wvalue of

z—3+i4/2+|z—5-i2]2, zeCT attained at

z =z, then the ordered pair ( 2y, m) is equal

to:
Optiqns:
1. (V13, 10)

2 (17, 20)

gcollegeduniag



3 (17, 10)

4 (13, 20)

Question Number : 3 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

A 2=z, W |z—3+i42+|z-5-i22 zeC
1 9 N FATH HA m 8, o HHd g
{q}-,m}iﬁﬁﬂ%:

Options:

1. (V13,10
2 (17, 20)
3. (17, 10)

4. (13, 20)

Question Number : 3 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

o z=z, AN |z-3+i42+[z-5-i2%
zeT et Bud maReL 53 €, dl s9sd
sS (zgbm)=________ .

Options:

1. (W13, 10)

2 (17, 20)

Qcollegeduniag



3 (V17, 10)

a (13, 20)

*

Question Number : 4 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1

[f for some ¢ < 0, the quadratic equation,
2cx?—2(2¢—1)x +3c?=0 has two distinct

real rools, ; and E then the value of the

determinant, 1 1+ b 1

Options:

1. 2

Question Number : 4 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1

Tfg fFdl c < 0 F foau fgema gHEHTm
2cx2—-2(2c— D+ 3c2=0 F = fom amafa=

H\Héﬂm%%,ﬁwfﬂﬁ

1+ a 1 1
1 1+b 1 |FHAAE:
1 1 1+ ¢

Options:

Qcollegedunia%



2. 0

4
3. 3
4, 1

Question Number : 4 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1

s 51895 ¢ < 0 W2 leaa wdlsael
2e02-2(2c-1)a+3c2=0 A o [tz oilsd

1 -

=

6l dl (=18

1)
|-

Options:

1‘2

W

gcollegeduniag



Question Number : 5 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

5
_y] ;x, ye R,
Y

Let A = [I
1

| 10
If AAT = [“ “] (v e R), then o+ HP_ 15

equal to :

Options:

1. *

9. V2 -1

4 2

Question Number : 5 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

-9
AT Az[ll ‘y]:x,y..nﬂ 1 afz
y

1 0 =
AAT = [,' ] (o e R) T W at y2 = "

U o
R

Options:

Tz =

2 VZ-1

Qcollegedunia%



Question Number : 5 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

o x 29
glls A= , ;x,yeR.

Yy

S 1o "
AA" = (a e R) G,

0 yz S v s owwe

Options:

1‘1

e
[

Question Number : 6 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

o

Let 5" denote the sum of the first n terms of

an A.P., ay, @y 8y, ..., A If ast+ag=1 and

Sijzf:r then which one of the following is

not true ?

Options:
13

Qcollegeduniag



Question Number : 6 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

I ﬁﬁ'f 8y, @y Ay -
n 931 & A FI SWA &1 A ag+ag=17q
Sg=6¢, T 7 § ¥ &H | UF T el &7

HMT 5

n'

Options:

13
-I Si3 =

2

2. 230

Question Number : 6 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

QRls S = MUk Hell (A.P)a, ayay .. a,
Al Wdel n YELAL MUl U B, sd ag +ag=1
A Sy =6 €1, ol Al2ioll s w4l

Options:

1' 13 2

,a, % 994



Question Number : 7 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

- f_'tr“.g
If St“gﬁc ol =| + B, then
T?I P, '-22'

o+ is equal to :

Options:

l.. =

B

Question Number : 7 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

afz L[“"‘J FHET

r=1% =

a+tPFHAAE :
Options:

1. 2

Qcollegeduma



Question Number : 7 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

9 9
5 " +3 ) 5 -
o }J{r - ]gf:, =n(—J FB gy, dl
r=1"% 2 \2
a+p=_ _ ;
Options:

1. 2

Question Number : 8 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Let a function, f: (—1, 3) — R be defined
as f(x) =min{x[x], x[x]— 2|+ 2}, where [x]
denotes the greatest integer<x. Then fis :
Options:
neither continuous nor differentiable
1 at exactly 3 points.

Qcollegeduniag



not continuous at two pomts and not
2 differentiable at 3 points.

neither continuous nor differentiable

g at exactly two points.

not continuous at only one point and

4 not differentiable at three points.

Question Number : 8 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

HAATUS e f:(—1,3) — R,
f(x) = min{x[x], |x[x] - 2| +2} gRI 9ffoa 2,
E’ﬁ[:{},ﬂﬂﬁﬁ%’gxﬁm%ﬁu:
Options:

A 4 fegadi w9 o Had € AR A @
1. sEFHE 2

21 feigeli W Haa @ € aun o fage
2 W sEEEE T €

A= 3 figell A @ daa & e A @
3. FEEHeHE g

Fael U Tag W Had e g a9 1
4. Tgel W sEwera 76 2

Question Number : 8 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1



qel @84 f: (-1,3) = R=
f(x)=min{x[x], |x{x] -2/ +2} gl c4rlid
€14, sl [x] 2 Herd el yells < xsls, ol f
2 :
Options:
oRlor 3 [Lig2ll 210 Hdd el -2l 5
1. Esadl e 42l

o [egAl 2t ddd El =14 3 (G5l
2 2w [sad el

oo o (g2l 2o udd el 2l 5
3 Esadl w2l

ssel s [ 2000 Hdd 2l 2 A
4 (g2l 2o (sl il

Question Number : 9 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Hml{lﬁ?’e [:Dx[x-- 1 _ (1 ex})
X —»

.ngE (4x(x—1) ]} isequal to:

Options:

].. 2

g —2log,2

gcollegeduniag



4 1 Ingﬂz

Question Number : 9 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

lim {lnﬂe ['Dx{x 1) _ ox(1 x}}

r—
.;DBE['H(I 1))} TEL S

Options:

1. 1

2 log, 2
3, —2log,2
4 1-log,2

Question Number : 9 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

lim {1“:‘-@_ f_ux{x 1) Lﬁx{I x))

r—=1

loge (4x(x~1))} =

Options:

1. 1

Qcollegeduniag



4 1 Ingez

Question Number : 10 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1

The function f(x)=e**1! (4x2—16x +11)
is :

Options:

; T ( IW (5 )
Increasing in e, —=— | M) | =,

1 J

9 in:reasingi_n.[— oo, —2) U (2, =)

5 ::lecreaﬁf_ngm( 50, g] 9, (l I.]

decreasing in( o, lw s (E, x]

4.

Question Number : 10 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1
e f(x)=e*t ! (4x® - 16x+11) :

Options:

1 ( =, 1] U (ix}ﬁatﬁrﬁ%l

2/' *-\E A

5 (=, —2) U (2, =) § adHFA ¥



Question Number : 10 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

(B84 f(x) =e*+ 1 (422162 +11) =L :
Optiqns:

B Ty
[y | u(i,1|'ﬂi'—1ﬂiﬁ'.
1* L 2/' _2 A

2 [ %, =2) U (2, =) Hi 48 8.

Question Number : 11 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The area (in sq. units) of the region

]

<y =smx, 0= x =< ‘WJ)iS.:

{[LHJ:]E

Options:

L5

[~a
w | =



b
)

&
]

s
o | 9

Question Number : 11 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

213 {{1‘,3,*] : = < yo<ging, Q0 <y < r]
2 J
1 e (a sTEdi H) B

Options:

5

Question Number : 11 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

e J’{x,y]:l <y <sinx,0 £ x = wl
l 2 |
o #tsu (2l 2sHHl) 8,
Options:
S
1' 3

Qcollegeduniag



32T

3. 3
.

4. 6

Question Number : 12 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

If x = x(y) is the solution of the differential
equation, ydx-— (x+2y%)dy=0, with
x(—m)=m2 then x is equal to :

Options:
"2

L. B

9, Wty

Question Number : 12 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

afs  x=x(y), SAAFA HHTH L
ydx — (x4 2yA)dy =0, x(— 7)==, F TAE,
T"-ﬁxw%:

Options:

1. -

Qcollegeduniag



2 2y + 3y

3, Y-y

4, Wy

Question Number : 12 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

o x=x(y)

ydx — (x +2y)dy=0 -l G5 iy, sl

-

x(—m)=wZ dl x=

Options:
1 Zyz e

2 27+ 3wy

q ¥ -2y
4. Ty

Question Number : 13 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

A ray of light is projected from the origin
at angle of 607 with the positive direction
of x-axis towards the line, y =2, which gets
reflected from the point (o, 2). Then the
distance of the reflected ray of light from
the point (2, 2) is :

Options:



| .
2 2[1 EJ
3.3-\3

N it
4 V3

Question Number : 13 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

eI ol U [0, §e fog | 1-A9 F] 9+
ferem § 607 % =101 9 @1 y=2 Fl AR FHTId
FI 9 €, S TF &g (o, 2) T WEfda & S
21 @ feig (2, 2) | wEfda 9w it fwo

= T
Options:
1. V3 -1

3 %)

Question Number : 13 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Qcollegedunia%



ustld el x-2al alan 1@ 607 4l vel
eietled o Zld Gorleig wwell Yl y =2 dzg uEY
s2ellil 20 8, o (G5 (o, 2) uredl wualdd 2
6. ol usi2iAl 21 weldd (s g (2, 2) @l
Rt L.

Options:

1. V3 -1

, 1)

3. 3-8
1
4 B

Question Number : 14 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1

2 2

Let the ellipse, — Y. - 1, a > b, pass

a b2
through the point (2, 3) and have

1
eccentricity equal to E Then equation of

the normal to this ellipse at (2, 3) is :

Options:
1 2y—x=4

2' 2x—y=1

3 x—-y=3

gcollegeduniag



4 3x—2y=0

Question Number : 14 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1
)

2
T S :—2 F L= 1,a>b 72 3)

bE

ﬁﬁmm%ﬁmwﬁsﬁﬁm%%ﬁ(z:ﬂ
T 9T F SAfues 1 gHEm

Options:

1, w-a=4

4 3x —2y=0

Question Number : 14 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

2 2

e, .1 - -
Qs Guagy — 4 Yo=1,a>ba B
a b~

(2, 3) izl Wz w4 B #A ddl Gobegetl % 8.

dl (2, 3) 201 24 Guaas-L 2i(Gdo 23{ls2L
8.
Options:
1 2y—x=4



Question Number : 15 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

If a variable plane in 3-dimensional space
moves in such a way that the sum of the
reciprocals of its intercepts on the x and
y-axes exceeds the reciprocal of its intercept
on the z-axis by 2, then all such planes will
pass through the point :

Options:
(l 11
1 Va2t 2y

3 .
. (773

(1 1.1
3. \2.- 2' 2)

T
s
b3 | =
B3| =
e, e,

Question Number : 15 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1



#fe T = gHaa =G (3-dimensional)
AW H TH YR 9ad ¢ 6 T9F x a9
y- AL I FA<:E S| & HokHl B AR
59 - AH WA 3.4 E o Fgohd 9 2 AfF
2, 1 U il yae fog fog 9 S e, =2
T

Options:

Question Number : 15 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

od Bruleaell wiesieml »is uldd wdd 21 <ld

WA B 5 o/l x 2t -2l YA L @i vl

cofiectedll MRAUOL B z-2AH YL el 2 vl

3l 57cll 2 o2l oY G, ol 2L ER5 AU ddl
(igaizll vz 22l

Options:

{lll}
1 2" 2" 2

ba | =
B3| =
B3 | =
.

gcollegeduniag



,,

B2 | =
-

ha | =

s -y

Question Number : 16 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
If the volume of a parallelopiped whose

coterminous edges are a= 1 + |

— i A

— i Fa M
b=2i +Aj + k and c=2i F2j + Ak
is 35 cu.m,

o — =

— A "

F2k,

then a wvalue of

——
ab + b-c c-a 1s:

Options:

] =

2 —14

3 10
4 2

Question Number : 16 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
afs UF WA TEHAs fad9s FEEar
a .—.'* M A
(coterminous) TFIR a=1i + j + 2k,

—F it Fan M — .y Y

b=2i +Aj + k AT c=2i +2j + Ak

b

. OF1 A¥ad 35 cum €, dl

ab + b-c c-a WWW%:



Options:

1. 2

2_ 14

Question Number : 16 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

— M Fa FA%
sg-il Bisefload A cusy=ll a= i + j + 2k,
b=2i +Aj + k wd c=2i +2j + Ak
S el Aicr 55 artsn 35 ud Hl €, ol
ab + b-c c-a l Bua
%12,

Options:
1. 2

7 -4
3 10
4 2

Question Number : 17 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

gcollegeduniag



If 10 sina +15 costa=6, ae ( i EW,
2 2.0

then 27 cosec®« + 8 seca is equal to :
Options:
1. 280

9 270
3. 0

/), 240

Question Number : 17 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
X

g 10 sina+ 15 costa=6, ae ( %,
A

SR

2, 127 cosecPa + 8 secta AT T

Options:
1, #0
2 270
3. 20
4. 240

Question Number : 17 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

sd 10 sinta +15 costa=6, ae [ E, i]
L. 2

é\lit, dl 27 cosecto + 8 secta = S 3 gcollegeduni&

aaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaa



Options:
1. 280

2. 270

4. 240

Question Number : 18 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

A bag contains 6 red balls and 10 green
balls. 3 balls are drawn from it one by one
randomly without replacement. If the 3rd
drawn ball is red, then the probability that
the first two drawn balls are green is :

Options:

1. 37

2, 3/8

3 9/56

4. 9/49

Question Number : 18 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Qcollegeduniag



TF 9 H 6 e 99110 7 IS F 1 THE 4 U
UF Fh A=Al 3 e, fa gfaem =,
ForepTedt ot €1 afe et T8 i g o
® W T T veel &1 WS F w0 @
mf&?sm%:

Options:

1. 3/7

2. 38

3. 9/56

4. 9/49

Question Number : 18 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

w5 Sl 6 | £50 2l 10 dlal 261 5. cmizdl

3 £5LHE R8s dld 218 wssl 215 yeaelRled deuui

el 8. ot Al 2uad st 251 A €, dl

Yl el 2udd o gol dldl ¢ adl HeusHt
21,

Options:

1. 3/7

7 3/8

3 9/56

gcollegeduniag



4. 9/49

Question Number : 19 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Let the data4, 10, x, y, 27 be in the increasing,
order. If the median of the data is 18 and
its mean deviation about mean is 7.6, then
the mean of this data is :

Options:
1 1

3 16.5
4' 17

Question Number : 19 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

HET SA1HE 4, 10, x, y, 27 T20 HA H €1 A
HAlF2 F 1 18 T a1 571 J= F G
e fager 7.6 2, ° 59 SATHel &1 9 2
Options:

1. 155

3 16.5

gcollegeduniag



Question Number : 19 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

aals Hlgdl 4, 10, x, v, 27 24 Ul 5441 S, ad

HUledlal W 18 €U i de, WeasHl Ui

weual [Bad 7.6 ¢, dl 2u aldda weus
8.

Options:
1 15.5

Question Number : 20 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Which of the following is not equivalent to
o~ PAq?
Options:

1. ~Pv~9
2, ~P™a

7 ~(q—p)

Qcollegeduniag



A ~pA(~p—q)

Question Number : 20 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

A FAFA A ~p A q FTA T 8?7

Options:

1. ~(pv~9

2. "Bl

3. ~(@—p)

4. ~pA(~p—9)

Question Number : 20 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Al 2 ~p A g A Wiss 4l)

Options:
1. ~(Pv~9

7 “P7~q
3 ~@—p)

4 ~PACP—Y

Qcollegedunia%



Sub-Section Number:
Sub-Section | d:
Question Shuffling Allowed :

Question Number : 21 Question Type: SA
Correct Marks: 4 WrongMarks: 0

If the total number of ways in which
8-digit numbers can be formed by using all
the digits 0, 1, 2, 3, 4, 5, 7, 9 such that no
two even digits appear together is (5!)k,
thenkisequalto

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

100to 100

Question Number : 21 Question Type: SA
Correct Marks: 4 Wrong Marks: O
7fg |t &+ 0,1,2,3,4,5,7,9 F T4 4,

L Y L} * =

8371 ATell UM HEAW, T #1E of 31 993®
U WY 7 A, T A HF o Fel Tl i
e 5Ok E KkFMAAE |

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

100 to 100

Question Number : 21 Question Type: SA
Correct Marks: 4 WrongMarks: 0

od SHellsy 251 0,1,2,3,4,5,7,9 -l Guzla 57
A, SlUEL oL Y3 2zl 25 UEL A4 20d d dd
8-isll v erttgarl 2l (50k €M, dl
k=__
Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes
Answers Type: Range

Possible Answers:
100 to 100

Question Number : 22 Question Type: SA
Correct Marks: 4 WrongMarks: 0

2
40503652
Yes

Qcollegedunia%



Let f(x) [k — 3 , if x<-1

X) = 4 r

' |3 x+ 4, if x=-1
g(x) =x2—bx—2 (x ¢ R) and b is a real
constant. If gofis continuous atx= —1, then

bisequal to

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

5t05

Question Number : 22 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

J_x 3 , AR x<-1
|3x+ 4, T x = -1
g(x)=x2—bx—2, (xe R) 741 b TF ardias®
T E| AR gof, x= — 1 R HTA &, T b T

# |

r

HE f(x) =

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

5t05

Question Number : 22 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

f -

P J:r ], ot x<-1
URLS f(x) = "
3z +4, 4 x=-1

r

gr)=22-bxr—2, (x ¢ R) 21 b 21 qidlds
AN O, ol gof B x= — 1242101 Heid €1
dib= 21,

Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes

Answers Type: Range

Possible Answers:
5to5

Question Number : 23 Question Type: SA

Correct Marks: 4 WrongMarks: 0

If Jel"' (cosx + 7 sinx) dx = ehg{x} o,
where ¢ is a constant of integration, then

!

g(0) g{%J is equal to 5

gcollegeduniag



Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers :

Question Number : 23 Question Type: SA
Correct Marks: 4 WrongMarks: 0

Ife
jc-?—" (cosx + 7 sinx) dx = e*g(x) + ¢ ¥,

)

Tl ¢ U FAREH A= T, A g(0) {

Ml—i

ELETa l

et i i

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 23 Question Type: SA
Correct Marks: 4 WrongMarks: 0

=

|

je‘h (cosx + 7 sinx) dx = ehg{x] it

sl ¢ 4 sl 215 G dl g(0) | = | =

CIER

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 24 Question Type: SA
Correct Marks: 4 WrongMarks: 0

If the line joining the points (—1, 2, 5) and
(3, 4, —10) intersects the xy-plane at the

1
point (x, y, z), then i is equal to
Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range
Possible Answers:

Qcollegeduma



Question Number : 24 Question Type: SA
Correct Marks: 4 Wrong Marks: O

g fagsti (—1,2,5) T4 (3, 4, — 10) =l faem
AT T xy-Tae 1 o5 (x, y, z) T HEAT T,

S e L Bl e

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers :

Question Number : 24 Question Type: SA
Correct Marks: 4 WrongMarks: 0

[Cig2tl (—1,2,5) 21 (3, 4, —10) A sasell 2wl
v

X

xy-HHdad (65 (x, v, 2) 4 oedl € dl

e ————— —

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 25 Question Type: SA
Correct Marks: 4 WrongMarks: 0

Leta,be Randa > 0. If the tangent at the
point (2, 2) to the circle x> + > =8 touches
the parabola y¥*=4a(x —b), then b—a is
equal to

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 25 Question Type: SA
Correct Marks: 4 WrongMarks: 0

AMla, be RTAMa>0F| Afg I 22 +12=8

* fag (2, 2) W Eidl TS WEE], WAy

y2=4a(x—b) FI T FAE, Mb—a TR T
|

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Qcollegedunia%



Possible Answers:

Question Number : 25 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

4Rls a, be R »a >0, sd ddiix?+ 12 =8l
(%5 (2, 2) 2l 2uels, wwaad y2=4a(x — b)
A@ldib-a= Y1,

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Aptitude Test

Section Id : 40503639
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 50
Number of Questionsto be attempted: 50
Section Marks: 200
Sub-Section Number: 1
Sub-Section 1d: 40503653
Question Shuffling Allowed : Yes

Question Number : 26 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Which one of the answer figures is the correct mirror image of the problem figure with respect
toX -X?

Options:

)

&collegeduniag



Question Number : 26 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

IR AR | T AT S ST W9 SMH B X - X W i HE S gidtae & 7

X

By
o
b
\'-\.
W5 -
] -
Options:
e
.y \'.
-~ LY
e LY
"I ]
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Question Number : 26 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

seelle 245 [l 58 2usld we 2usld X - X AL 2da el wAle (mirror image) 8 7
15 15 1l g

X
'-\.1‘ o
1'\. .
A
X
Options:
h hy
- '\-
1 ""'\-\. \"-._

Question Number : 27 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Qcollegedunia%



Which one of the answer figures is the correct mirror image of the problem figure with respect
toX-X7?

Options:

NN
2.
I|I\-\\-’"—r
3 N/
; ‘

Question Number : 27 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

I AT | T FAET SAHA < T AT AH B X - X T w9 i giata 2

X

Options:

gcollegeduniag



N
2.
3. KNS

Question Number : 27 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

syclled wigldoliieAl 58 2ugld ue 2ugla- X - X Al wrda edel uldlGel (mirror image) 8 7

N
Options:
/
1 o
NN
2.

Qcollegeduniag
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Question Number : 28 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Which one of the answer figures is the correct mirror image of the problem figure with respect
toX-X?

X
o
l"-lf II I"
A
l,-"' =N _"...'
X
Options:

-
P
1. =

L

4.

Question Number : 28 Question Type: MCQ Option Shuffling : Yes Qw“eSed””'a



Correct Marks: 4 WrongMarks: 1
I SAFH T H W HAE SFH & T A SAFH X - X T =i w@l o7 gatee 2

X

Options:

o
AN conl
II-_"___.-}{"-/ﬁ"'-._

PV i
1
P —
1

Question Number : 28 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

seelled 2 [doluidAl 58 2ugld ue 2ugldd X - X Al g sdet ulAlAe (mirror image) © 7

X
I
[ (¢
.-'H “:‘J"h.
.-_-' _'.5
X
Options:



4 i'.r':“"
*

Question Number : 29 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Which one of the answer figures is the correct mirror image of the problem figure with respect
toX-X7?

FIND
T, "
‘\.\ ]

Options:

B

Qcollegeduniag



Question Number : 29 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

IR AHEE H T FIAE ATFTT & T T STH B X - X T T g8 g gfafa g2

X

o T
1 - II'
L

Question Number : 29 Question Type: MCQ Option Shuffling: Yes )
Correct Marks: 4 Wrong Marks: 1 8 collegedunia



seelled szl 58 2usld we 2usld- X - X AL 2is edel Al (mirror image) 8 7
15 15 U lct-y g

X

Options:

Bl
et Al

1.

e
.
b 0 4 4

3.

Question Number : 30 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Which one of the answer figures is the correct mirror image of the problem figure with respect
toX-X7?

x
X

Options:

aaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaa



Question Number : 30 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

I Sl § H B SH & T A St # X - X § gt 92 2 wfafae §2

X
2
Yy
X
Options:
" .-":""-.
“QJ,J
1. B=

Qcollegeduniag



Question Number : 30 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

sgcllol wig(dutiuidAl 58 2ugld ue 2uglad X - X Al urdg gdel wldlGet (mirror image) 8 7

X
21\4*“
X
Options:
|+ ,-':"-.“
,hﬁ}f
1 i




Question Number : 31 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The problem figure shows the top view of an object. Identify the correct elevation fromamongst
the answer figures looking in the direction of the arrow.

Options:

e 5]
1.

H'\/ I".I _."ll‘l

Question Number : 31 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

U9 i § TR 9 o S99 9 femrd T E | o 6 feen ¥ S 5U S endfadl § ° oo el
T 599 TREA |

Options:

gcollegeduniag



1.
Kl "-5. ;IH'
2.
3
NS
4,

Question Number : 31 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

U 2A5(A 215 g Guil £ (top view) salidd 8. dlz-l B2l sadl, i 2] G~id £#4 (elevation)
sl 2iglaasiel gl

Options:

P
1.

gcollegeduniag
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ol
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Question Number : 32 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The problem figure shows the top view of anobject. Identify the correct elevation from amongst
the answer ligures looking in the direction of the arrow.

L]

Options:

L

1. —

Qcollegeduniag



1. '

Question Number : 32 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

¥ ST | TRl =g 1 Rl 599 e T e | o e § S g SR Sk adl § W sH Wl
HEE 399 TR |

Options:

1. —

Question Number : 32 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Qcollegedunia;



Uar 2ig[d 2is dege Guil 224 (top view) g2l 8. dlz-l Eausl sddl, 2i 2412] G~id 224 (elevation)
spelied gld=iuizl eldl

Options:

L

1. —1

Question Number : 33 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The problem figure shows the top view of an object. Identify the correct elevation fromamongst
the answer figures looking in the direction of the arrow.

]

Qcollegeduniag



Options:

Question Number : 33 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

YA AT | TRt 9 1 S0 999 femman 1 IR 1 faw ¥ S gu S e adl | ¥ he wel
A v TR |

]

AN

Options:

L

2 ﬁ'

Qcollegedunia;
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Question Number : 33 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Usd 215l 245 s Gudl e (top view) gl 8. kel Eauwl sadl, 24 22 Bt £24 (elevation)
seeled 2agld2iiuisdl el

Options:

Qcollegeduniag
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Question Number : 34 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The problem figure shows the top view of an object. Identify the correct elevation from amongst
the answer figures looking in the direction of the arrow.

Options:

P —

Question Number : 34 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Qcollegeduniag



YA TR | TRt g 1 SR 99 femar T ¥ | IR 1 e F S gu IR enE el | | sue we
HE[E 994 TEAnd |

Options:

4 T

Question Number : 34 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

U 25l 2is g Guil £24 (top view) g2l B, dlzl Eausi sadl, 24 212 Gid 224 (elevation)
spelled (d2iluizl el

]

Options: Qcollegedunia%



Question Number : 35 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1
The problem figure shows the top view of an object. Identify the correct elevation fromamongst
the answer figures looking in the direction of the arrow.

Options:

1.

Qcollegeduniag



Question Number : 35 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

e ST | o 5 = S gva fawmmn T ') A w6 fewn § T gu I o 8§ | she weé
T 399 TR |

Options:

Qcollegedunia;



Question Number : 35 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

U 2iigld 215 g Guil 294 (top view) g2lid 8. dla-l Easl sddl, i 12] Gid €24 (elevation)
sgelled 2l 2imizdl el

Options:

1.

Question Number : 36 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The 3 - D figure shows the view of an object. Identify the correct view when the figure is
opened up, from amongst the answer figures.

o

b

Options:

Qcollegedunia%



Question Number : 36 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Qcollegeduniar



3 -D WY SHfd H U 9% F U 574 H fomm e € I gvdi | 9, W9 9%y & 9ol 9 & w0
T9I TR |

Options:

el
I

Qcollegeduniag



Question Number : 36 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 - D M 25lA 25 g e adid O, 20 2l vidl Bl wue R dd M e s
215 [z 2uial

Options:

Qcollegeduniag



Question Number : 37 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The 3 - D figure shows the view of an object. Identify the correct view when the figure is
opened up, from amongst the answer [igures.

Options:

&collegeduniag



Question Number : 37 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 -D YA AHTa H U 95 F UF 299 5 fomm T ¥ | S9 9vh § 4, 99 95 & gl 9 & TEl
9 TR |

- =
A

o

Options:

Qcollegedunia%
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4. i

Question Number : 37 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Qcollegedunia;



3-D st 2l 25 g £ ol 8. @il 2igldd vidl Banl 2 i dd WE) £ s
1 [zl 2lial

A

Options:

aaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaa



Question Number : 38 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The 3 - D figure shows the view of an object. Identify the correct view when the figure is
opened up, from amongst the answer figures.

a7

Options:

(==

| C

=

gcollegeduniag



Question Number : 38 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 -D W 3% ¥ U 9% F UF 579 F femd T ¥ 1 S g9l ° 9, 99 95 F 9o 9 % w0
99 B |

.-'-"'

Options:

e

Qcollegedunia%



Question Number : 38 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3- D u 2Usld 25 g £ ol B, 2 2ugldd vildl Bl 2ud 4R e Wi B s
vtz qlial

Options:

Qcollegeduniag
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Question Number : 39 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The 3 - D figure shows the view of an object. Identify the correct view when the figure is
opened up, from amongst the answer figures.

Options:

L]

Qcollegedunia%
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Question Number : 39 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 4 Wrong Marks: 1

Qcollegeduniar



3 - D W¥ =THfa H U 9% % UH 399 I foadn T ¥ I 99l | 9, U g F WA WM & Tl
294 YeAY |

i i J,"
_,-'r fa 7

Options:

2

anl
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Question Number : 39 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3- D U wugld 25 srdd s ool 5. w1l 2ulad vidl Bml pud ol dd We) e s
gzl 2l

Options:

&collegeduniag
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Question Number : 40 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The 3 - D figure shows the view of an object. Identify the correct view when the figure is
opened up, from amongst the answer figures.

Options:

Qcollegeduniag



Question Number : 40 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 - D ¥ ARG § U 9% % UF 999 I fow@mn v ¥ 3 gvdl § 9, Wi 9% % gd 91 6 9@l

T9 TR |
.-"r;/_f_i-’]_f.-‘

Options:

Qcollegedunia;



Question Number : 40 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 - D s 2gld 215 g e o 6. 2 2glad vidl gl 2 o d- wie] e s
1y [tz 2uial

Options:

Qcollegeduniag
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Question Number : 41 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

OO
%

Question Number : 41 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

¥ e 3 T 1 SO0 2va fommn T ) dR w5 e H g gu S o taal 3 9 9E IE
¥ Yo |

SO
N

&

zf\‘-\

rd "

Options:

Qcollegedunia%
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Question Number : 41 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

u 2ild 5185 dgalld Guil 294 (top view) “did ©.  dladl Easl eddl, 2 e Getd £y
(elevation) srellel 2iugld=ixizl 2l

Options:

il

*

. Ll

Qcollegeduniag
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Question Number : 42 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

1

i

&

=
|

Options:

Qcollegedunia;



Question Number : 42 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

W ST H aegeli F1 S gvd faam T 71 9 #1 fae H S g0 W Al § 9 98 99
394 YA |

B
I} =

=

s
-
-

Options:

Qcollegedunia;



Question Number : 42 Question Type
Correct Marks: 4 Wrong Marks: 1

: MCQ Option Shuffling: Yes

U 21i5(d 5195 @il Guil 24 (top view) “did ©.  dl-l Buril eadi, 20 2] Gd £x
(elevation) syellet 24521l 2llel.

—
|

Question Number : 43 Question Type
Correct Marks: 4 WrongMarks: 1

: MCQ Option Shuffling: Yes

Qcollegedunia;



The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

U
=0

/.-" /|'\. \\

Options:

L
=

Question Number : 43 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

9 A1Hia 8 T 1 S v femmn T 21 IR #1 e § Sud g S et § 9 9 Ay
299 qEEI |

1 —
—n

/I\
s R
r ,

Options:

&collegeduniag
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Question Number : 43 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

U 2igld slds gl Guil 22 (top view) v 8. dla-dl Bl sddi, 2 w2 Gd £2y
(elevation) syell“ *’ﬂi{ﬁmﬁﬂiﬁﬂ 2Ul4lL.

U=
=

Options:

I

Qcollegeduniag



Question Number : 44 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

— [

Options:

1.

Qcollegedunia;



Question Number : 44 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

T T H Sege 1 S gva fammn T ¥ ) di # foe F dEd gu e st § ¥ wd an
299 YR |

]

Options:

y
-

N
=T
=h

B B

Question Number : 44 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Qcollegedunia;



M 2igld slds sgalld Gudl 2 (top view) ddid 8.  dlr-dl Ersi sddl, 2ud W2 G-d £wy

(elevation) syeitet 2iugld=ixizl 21l

-
[ 1]
1l

[ ]

ki

Options:

1.

Question Number : 45 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

P

=T
=N

SIS

The problem figure shows the top view of objects. Looking in the direction of the arrow,

identify the correct elevation, from amongst the answer figures.

Qcollegeduniag



Options:
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Question Number : 45 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

¥ A H T w1 90 5v9 femm T 7 9 # for ¥ Ted 3u sw AEfad § O uE aega
T9 TR |

Options:

Qcollegedunia;
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Question Number : 45 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

u 2sla Sds crqelld Gudl et (top view) odid 8. dlr-l Busl sddl, 20 2] Gd e

(elevation) sydl™ wﬁ%ﬁ‘ﬂﬁﬂiﬁl 2L

Options:

1.

filka
il
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Qcollegeduniag



Question Number : 46 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.

Options:

1.

Question Number : 46 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 - D W SThfd H UF 9% & UF 5vF I @ T g U HE S 994, S AThfad ° 9§
qEEI |

Options:

1.

Qcollegedunia%



Question Number : 46 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

3 - DU 204ld 25 e 28 A . 20 Wie] Gyl 294 (top view) sretiel 2uglaiaial el

e B e

"'\.‘ -~ "\.‘.
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Options:

1.

&collegeduniag



Question Number : 47 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.

Options:

1. U

I3

Question Number : 47 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

3 - D WY @fa § UF 9% % UF 9v4 %I fomm T ¥ sHE UE S gvd, S aiadl °§ W
TEE |
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Question Number : 47 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 - DU 2sld s g 22 cdld 8. U 12 Gyl 284 (top view) srellel 2uglaiizl lEl
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Options:

1. L

&collegeduniag
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Question Number : 48 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.

.,
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e o
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b T - =
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Options:

1. U

Question Number : 48 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Qcollegeduniag



3 - D W A H UF 9% F UF 99 &I @ v g1 s HE S 999, SW ATHad § 9§
e |
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”“'“a::q:;f;:’-f""
Options:
1.
|
2. |
3.

Question Number : 48 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 - Dus 2isld 25 g e o 8. v W Gul 224 (top view) ardlet 2zl LAl

&

m[‘,f

Options:

gcollegedunla



Question Number : 49 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.

Qcollegeduniag



Question Number : 49 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 - D WY Fd H UF 9% F UF ov4 T @A T ¥ | SHE Wel I gvd, S AT fad § 9
e |

Question Number : 49 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 — D U 2igld 2is gdd F8 il 8. 2 22 Guil 224 (top view) srstiol 2ugldaaizl el

" o~ -
et P P

Options:

Qcollegeduniag



Question Number : 50 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.

Options:

1.

&collegeduniag



Question Number : 50 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 - D WY A § UF g F UH o9 I fm T ¥ sHE B S0 vy, S sNShiad 3 9
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Options:

1.

Question Number : 50 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Qcollegeduniag



3 - Dy 2Hgld A5 R 8 Al 9. 2 W2 Gul £ (top view) sretiel 2uglaziil LAl

_.-"";.__.:‘
-
— i
""-\._\_\HH"‘-\. .-;._____.-
Options:

1.

Question Number : 51 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

Options:



Question Number : 51 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

3 - D 9 3NEid H U 9% F UF 399 FI fG@d ™ | 91 F few d S gu, sHE I v
T AFHE § F g |

l{ e
__.-' \.""[_H.
[""'\-. .-'?H"'H.
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-, H""-._. i
Options:
—
2. —
I

Qcollegedunia%



Question Number : 51 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 - DU sl 2l ddd e ddid 89, Al [Bausl sddl, 204 1) 21 sediod 2us(diuizl 2l
Lz 2% 1 13 e -]

Options:

L
1.

&

Question Number : 52 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Qcollegedunia%



The 3 - D figure shows the view of an object. Identify the correct view in the direction of the

arrow, from amongst the answer figures.

qQ

r

.

B

Options:

1.

mt
=

-

Question Number : 52 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 - D YA ST H U 5% % U 974 &I @ T g | 9 i fowm ¥ 2| gy, 6 IeE 59

I AT A F T |

f‘x__

Jff
:H- -

B "

e Gl
T

= L
-
-~
Options:

ot



Question Number : 52 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

3 - DU 2lgld 2 g e i 8. dleedl Bl sadl, 2uq e 24 srsiet 2ugldaimizl wual

Options:

1.

i
=t

Qcollegeduniag
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Question Number : 53 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the

arrow, from amongst the answer figures.

Options:

=

Question Number : 53 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

3 - D 9¥A ST § U 95 F U 594 I fomen T ¥ 1 d i faen ¥ 2md g, s g gvE

I AHTaAl § H gE=ig |
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Options:

Question Number : 53 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 - DU 2gld 21 drgd 2ot edid . dla-l (Bl sddl, 2 3] 224 srenot 2agldasizl 2iel.

Options:

=t

Qcollegedunia%



Question Number : 54 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1
The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

Options:

1.

Question Number : 54 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

&collegeduniag



3 - DY SAFi | T 95 F UF 994 F1 femmn mn ¥ 1 91 Fi fawm § T g, oo e g
I HAHITE H F TE= |

c:i[ [J,a
r-"‘-.HH" .-'""f
i i
N
.-"'F-"?
-
Options:
|
1 L] Q
|
2 —

Question Number : 54 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 - Dy 2ld 215 g e i 9. dldl B sddl, e e 22 oreie sugldziizl Al

ﬁl

Options:

| [ —

gcollegedunla



Question Number : 55 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

.,

o
H-\..-'f:-
e
L" -
i Sl N
.
5 W
o ____.-"'H
b b T L
el S ,..-""-'
- . I;.l__.-'
b

e
-~
i

.

Options:

=
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Question Number : 55 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

3 - D WY SEHfa § UF 95 F U ovd F fomm T2 #i e § 39 gy, 19 o v
I HAHTE A F TE= |

Options:

=

Question Number : 55 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 - DU 25l 245 drde e el 8. dlidl Bt sddl, 2] 49 e2 svaier wugldzisizl el

Options:

gcollegedunla



Question Number : 56 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

b
%
s
Fa gy

-y
T
. - ] Y
g, O R -
et e
Eal

'\-\.U__.-" -
-
it -

Ry s
=

Options:
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Question Number : 56 Question Type
Correct Marks: 4 Wrong Marks: 1

: MCQ Option Shuffling: Yes

3 - D 999 SHd H UF 9% F UF 999 &I fo@ma T €| 91 it fewn § Sad 3u, THF IE 9

I AHIAl H H FE= |

.
__.-"-"'\-\._\[
o T
'\-\..._\_h__.-"-:-'_ :_":-
H'-,_\_ .-_':-'.___.-' _i_..-""
o "
P
.
Options:
—
.S —
[T |
15 J E—

Question Number : 56 Question Type
Correct Marks: 4 Wrong Marks: 1

: MCQ Option Shuffling: Yes

Qcollegeduniag



3 - DU 2agld 245 g e ddid O, dlAl Bt sddl, 2 1] £ st 2ugldziuiz el

Options:

1.

Question Number : 57 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

Options:




Question Number : 57 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 - D9 3EHfd H U 9% F UF 999 F1 femmn T g1 IR i fawn | S5 gy, 59 99 9vd &6
I AHGE H 9 B |

Options:
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Question Number : 57 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 - DU 2lgld w5 g e e O, dlzAl (Bl sdd, 2 1 22 st pugldeiuizl Al

Options:

1. =

Question Number : 58 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures,

.-""Hx‘w-
J"'a .-"}
|
f‘“"}‘“"‘
; el "Hu-"'.:;,_
e o
H"\-»,\_\_L. T __-"-:i_.a"'
"'\-\.H‘.l/_.-" )
=y
Options:



Question Number : 58 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 - D 9¥T 3NFTd H U 9% F U 999 #I fom@ma T 2| a1 1 fewn # <ad g, s9F I9E v &
I AHE H H g |

Options:
1.
I
2 [
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Question Number : 58 Question Type
Correct Marks: 4 WrongMarks: 1

: MCQ Option Shuffling: Yes

3 - DU 2igld wis dige el Al . dlzedl Bl sddl, wie w2 224 srsuet 2agldaiivial el

Question Number : 59 Question Type
Correct Marks: 4 Wrong Marks: 1

: MCQ Option Shuffling: Yes

Qcollegedunia%



The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

&2

4|__I

Question Number : 59 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

3 - D WA i | U 9% % U 999 1 feme v g | 9 w6 fown | Sad gu, sHe Wed gy
ST AHE H | g |
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Question Number : 59 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 - D us 2usld 25 e 28 ol O, dlzel [Bausl sddl, i 2] sed srsied pugldoiwizl guel.

-\. '\-\.

Options:

1*|

Qcollegeduma
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Question Number : 60 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

Options:

L\_|

Question Number : 60 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
&collegeduniag



3 - D 9 SWfa H UE 5% F UF 999 1 fa@mn e 91 F fa ¥ S| gu, 50 9eyE v A
I ATFH N H H T |

Options:

L

==
5 =

J:

Question Number : 60 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

3 - D 2lgld 25 g £ el 8. dliAdl Bl sddl, 2 W e sttt 2ugldiaial eliel.

Options:



Question Number : 61 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Buckingham Palace is the Residence of
which one of the following ?

Options:
1 Queen of England

2 King of Netherlands
3 King of Prussia

4 King of Nepal

Question Number : 61 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Fig= Ty fefateEd § 4 v 51 FaE e
¥ collegedunia

Options: 7



1. SreiE F1 A

2 dteteie & I

3. gferEn =1 =

A, 9T O

Question Number : 61 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

oiffor ued AliAnial siq [Raad 97
Options:
1 Fodesel 20l

2 AEEE Sl 2o

3 YL 2o

4 AUSAL 2sd

Question Number : 62 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

In the Northern Hemisphere the winter sun
rises from which one of the following
directions ?

Options:

gcollegeduniag



1 North East
2 North West
3 South East

4 South West

Question Number : 62 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Tl ey § Afesl | g e femedi 5 9
fFaUH fem g a2 ?

Options:

1. W

2. I IfTEH

3 Sferor g9

4, e afyeEm

Question Number : 62 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Gzl otends Eruvudl Yo A&l 59
(E2uiell GLL 7
Options:

1. &R

Qcollegeduniag



7 Gz ylEm

5 eleel yd

4 glarel y=m

Question Number : 63 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Which one of the following is a purpose for
installing false ceilings ?

Options:
Supportinge the walls
1 PP &

2 Making the building water proof

Making the space acoustically
3 effective

4' Making the building fire proof

Question Number : 63 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

frefafaa § @ #19 9f get 39 T0a F39 F
fore w 35v9 B2

Options:

1, SR W

2 AN I FoHE =S9H

Qcollegeduniag



= TE T = TET T

4 THRA 1 AfEE FHE =9

Question Number : 63 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

wiZl &5t (false ceilings) 22yl @@ A=kl
TRSY)

Options:

1. [Eencinn 251 e

2 SHRAl ORI (U2Ys) il

3. ol el USRS AL

4 JHRdA PPRIES (5147Y5) ool

Question Number : 64 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

What amongst the following is the
thickness of a two brick wall ?

Options:
1 18"

2 20"

3 16.”’



4; =

Question Number : 64 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

frfefaa § 4 21 22 1 </ar +t 9 fwa

27
Options:

1 18”’
2 20"

3 16.”’

Question Number : 64 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

of el (zouadl sastd izl ) 7
Options:

1* IS.H’

2

3 16}1

4" 22“’

Qcollegedunia%



Question Number : 65 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Where from among the following is the
famous St. Peters located ?

Options:
1 Denmark

2 Norway

3 Rome

4. Venice

Question Number : 65 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Trefafas § 4 ufgg de died <e fem 272
Options:

1, =T

2. T

3. ™

4. 9

Question Number : 65 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

el e e Al2nizl 58 el g
57

Options: )
Qcollegeduma%



1 LeuLS

3 2

Question Number : 66 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

In which State in India are the large Tea
Gardens located ?

Options:
1 Punjab

2 Uttar Pradesh

3 ) Kerala

i Odisha

Question Number : 66 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

AA % $F § 19 § 92 =9/ 91 g 82
Options:
1, o

Qcollegedunia%



2 IWEA

=

5w

4. sifs

Question Number : 66 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

G 541 2AsAHL AL AL Hi2t eArll2uel =usal
67

Options:

1. Medet

2. Grn uzal

3 &

4 wHifsau

Question Number : 67 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Where from the following is the National
Gallery of Modern Art located ?

Options:
1 Bangalore

2 ) Lucknow

Qcollegeduniag



3 New Delhi

4 Mysore

Question Number : 67 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Frefafad I F=1 s el #i T Tor
feem 272
Options:

1. @R

7 TETs

3 e

Question Number : 67 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

w1gfs sou (Modern Art) Al 20%gly vidil
(National Gallery) Al 59 sr1z 2l
57

Options:

1. e

9 @G
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3 Al [eedl

4. &

*

Question Number : 68 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Which one of the following is a secondary
color ?

Options:
1 Green

7 Red

3 Yellow

4. Blue

Question Number : 68 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

e 5 9 W Tty T 27
Options:
1. =

Qcollegedunia%
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4. e

Question Number : 68 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

AlZARIAL 541 391 245 d0eL LT
Options:

1. dld

7 Ad
3.
4. sl

Question Number : 69 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Which one of the following is considered
to be a calming color ?

Options:
1. Red

2 Orange
3 Green

4 Blue

Note: For thisquestion, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct

options ar e chosen.
Qcollegeduniag
Question Number : 69 Question Type: MCQ Option Shuffling: Yes P s St s "



Correct Marks: 4 WrongMarks: 1
et ® | 1 |14 90ia = S 22
Options:

1. =

[

2, T

3 W

4, T

Note: For thisquestion, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct
options ar e chosen.

Question Number : 69 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

AlZArH AL £240 390 215 2l 920 |l U 67

Options:
1‘ A

7 ARell

23 dlal

4, ®

Note: For thisquestion, ambiguity isfound in question/answer. Candidate will get full marksfor this question if any of the correct
options are chosen.

Question Number : 70 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Qcollegedunia;



What is the texture of sand-paper ?

Options:
1 Coarse

2 ' Glossy

3' Smooth

4 Shiny

Question Number : 70 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

YAHR 1 FEE F91 B 2 2
Options:

1, vAsEEE

2 EHEHET

3. faF

4. TEEER

Question Number : 70 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

At Uy (sand paper) jé&-‘ﬁlﬁ (texture) 2}
57

Options:

1. VRO

Qcollegedunia%



9 YHSER

3, 44

4. 245,

Question Number : 71 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

What is the purpose of a chimney in a
building ?

Options:

1 . To give strength to a building

2 . To hold the building up

To take out the smoke from a fire

3 place

4 To make the building water proof

Question Number : 71 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

U THRA § o9 1 Sem e ?
Options:
1 W §HRA I a0 21 F fen

2 ¥E H "R A % T

gcollegeduniag



3 AR = e H g e & ferg

4. fafeen =1 9o9e 991 & fom

Question Number : 71 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

gl gl (chimney) -l ¢d 2 67
Options:
1. BHRAA Horofet Gl M

2 Rl Uss 12

g 2Rl el ISt Aer stz Hie

/. THRAA v R14S (A2RYS) Cirieell Hi

Question Number : 72 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

What among the following would be the
ideal material for flooring of a steel
factory ?

Options:
1 Wood

2  Tiles

3 Granite



4' Steel

Question Number : 72 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

fr=fafad | 9 F91 U 5999 FREH & F9
& fetu sTesl | 2 ?

Options:

1, T

2. =™

3_f|‘r1’1‘5€

4, @

Question Number : 72 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

22l s52dlAL el W ARzl s4useE
wiz3l 87
Options:

1' s

2 dll (ade)

3 Arld2

Qcollegeduniag



4, ¥l

Question Number : 73 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Who was the architect of the LIC Building
in Connaught Place, New Delhi ?

Options:
1 Raj Rewal

2 Charles Correa

3 Louis Kahn

4' Zaha Hadid

Question Number : 73 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

FAle ©H, 7 ool H Ue, 2me. 91, e =

ARGHET F 912
Options:

1. RERCIE
2 Il I
3. TEI®
4. TEEE

collegedunia:
Question Number : 73 Question Type: MCQ Option Shuffling: Yes Q ﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂ b .



Correct Marks: 4 WrongMarks: 1

sielz v, el [Eedl RRd wieoud Ml [Cedbrn
stz (22uld) sl )

Options:

1. ELTE

2 e slEuL

2 4o sl

4, »l ezl

Question Number : 74 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Who was the architect of the glass pyramid
al the Louvre Paris ?

Options:
1 Frank Lloyd Wright

2 Walter Gropius

3. LM. Pei

4 Charles Correa

Question Number : 74 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

FH wg Ui H e frfae F anger 97

Options:

Qcollegeduniag



2 et Uy
3, AL U
4. =T I

Question Number : 74 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

gz U R sl PRI ardsi (2aud)
519 gelt?
Options:

1 s dids ude

2 diczs Al

4 2 e sifEuL

Question Number : 75 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Who amongst the following is an
architect ?

Options:

gcollegeduniag



1 Geoffery Bawa

2 Sharmila Tagore

3 Louis Armstrong

4 Donald Trump

Question Number : 75 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

e 6| FH U T g7
Options:

1. ISR

2. WfHen &R

4§H|E~EEIII

-

Question Number : 75 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

AliAriell siel, s drdsr (22dd) 57
Options:

1 sf53l el

Qcollegeduniag



2 abla 2ok

3 gy 2Rt

4 SIS 23

Planning

Section Id : 40503640
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 25
Number of Questionsto be attempted: 25
Section Marks: 100

Sub-Section Number: 1

Sub-Section 1d: 40503654

Question Shuffling Allowed : Yes

Question Number : 76 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

A system of economic enterprise based on
market exchange is termed as :

Options:
1 Socialism

2 Communism

3 Capitalism

4 Feudalism

Qcollegedunia%



Question Number : 76 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

AN f9f 99 (market exchange) T I
o J2 1 UF WIS T Fe S E
Options:

"I ; HHMET

2. iR

3, T

Question Number : 76 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

oistz [ElAy Gur 2pauba 20lls weudl i
yepdl Al 2y dils 2o e,

Options:
1 . HHls' A5

2 HPHEE

g e

4 HAAIE

Question Number : 77 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Qcollegedunia%



Which is the First Airport in India ?

Options:
1 Safdarjung Airport

% Juhu Aerodrome
Kolkata Airport
3 P

4 Madras Airport

Question Number : 77 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

I H e T4 g HH W T2
Options:

1. FEETST B G

2, TEEE Y

3. i T

4, T oy

Question Number : 77 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

LA HAH g 2agL (2RE) 24 B
Options:
1 HSERO/IL SIS gL

gcollegeduniag



9 slesTil sld 28l

4 Ve &l 243l

Question Number : 78 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Which of these does not hold true for the

following observation ?

Evidences of town planning principles in
Indus Valley Civilisation is demonstrated
through the discovery of the following :
Options:

Houses were connected directly to a
1 ) drainage system

Public transport wagons moved in
2 the cities

Great Bath that served the purpose
3 of community bathing

Some of the towns were laid out in a
4 grid pattern

Question Number : 78 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

T oot (observation) F & %17 @1 9=
T 77

oy =t Wy ¥ R A fasid &1 @
=1 3 9 o | Wi 2 E

Options:
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T F HIY AUHET A (drainage
1. S}fst{-m}ﬁ ElEkeiE

2 qrEsiie IfaeT 9 el § ge o |

UZ A9 (Great Bath) o3 ArEa®
3. TE % 3}¥ H FE fwa)

4 F9 TRl F e T2 § = @

Question Number : 78 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Alel UYL 2iedlsH qie 4 02 @)
s v{lol Haglani AR 2uElerd [Feaid -
Yaiell Al 2uidl 2y 9 sled ©.

Options:

1 el MEL o 2123 o8l MIE sdSIHA gl

g U o Wk P1rt WS ed

Q% ol SRR L AL &g R sl

S2dls A aull 2usR (grid pattern)
4, @ eloe

Question Number : 79 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1 gcollegedunias
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Which one of the following is not a
fundamental right as per Constitution of
India ?

Options:
1 Right to Equality

9 Right to Education
3 Right to Freedom of Speech

4 Right to Property

Question Number : 79 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

qeTE Wiay™ F 9aR = § T F9 W uE
Hifer HAfaewr & 2 ?

Options:

1. S AT

2. T =1 wferR

29 Afyy=afaa =1 =a=ar #1 AfaFr

4 HYiq &1 ATTFR

Question Number : 79 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Azl wudenial s @i euRdAl AAREL NS
YO %5 Aul?

Options: Qcollegeduniag
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1. AL L 2851

9 [BlaeL =ilasi:

g el (el 2ed Al =R

4 [lasd Al =iEs1z

Question Number : 80 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Which of the following has the maximum

slope ?
Options:
1. 1:20

3' 1:15

4. 1:10

Question Number : 80 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

= H o Tt = sfusas g2

Options:
1. 1:20

gcollegeduniag



Question Number : 80 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Al2l 2zl Sl 25 HedH B S )
Options:
1. 1:20

Question Number : 81 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Which of the following Ministers has never
held the portfolio of Urban Development ?

Options:
1 Hardeep Singh Puri

2 Venkaiah Naidu

Qcollegeduniag



3 Jaipal Reddy

i Jairam Ramesh

Question Number : 81 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

= w6 § 9 fams o o=l fam =
T4 (portfolio) i 21 =17
Options:

1. e fHE T

2 EERIE ey

3. ERRIEE]

. SETH WY

Question Number : 81 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Al uermisl s maud 2169l s Al sendl
(iesiler) suRa deued 2l
Options:

1. el Ry

R B Y

RS (G! 3¢l

Qcollegeduniag
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Question Number : 82 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Whalt is the full form of GPS?

Options:
1 Green Peace Society

Global Positioning System
2 £ 23

3 Global Peace and Security

4 Global Position on Security

Question Number : 82 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

GPS =1 T A (full form) F1 &7
Options:

-I Green Peace Society

Global Positioning System
2 g Sy

3 Global Peace and Security

4 Global Position on Security

Question Number : 82 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1 Qcollegedunias



GPS 4 20 13 2 67
Options:
1* Green Peace Society

2 Global Positioning System

3 Global Peace and Security

A Global Position on Security

Question Number : 83 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

When was the first United Nations
Conference on ‘Human Settlements
Habitat I' held ?

Options:
1 1951

7 1976

3 1970

A 1971

Question Number : 83 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

‘T Yoy e 1 W ueen Uy e
e Fd ST T T o9 ?
Options:
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-‘I 1981

2 . 19T
3 1970
4 1971

Question Number : 83 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

A lecl-Al qusie T Gur uaw iy
A 2R Hlatdd €7

Options:
1 1981

7 1976

3 1970

4, 1971

Question Number : 84 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The headquarters of International Labour
Organisation (ILO) is located in which
city ?

Options:

Qcollegeduniag



1 MNew York
2' Vienna

3 Washington DC

4 Geneva

Question Number : 84 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

FHAEE 99 912 (ILO) 1 JEned T4 vet
Y foo &7

Options:

wt

1, TEE

2. fagm

3 =T 21

4, fom=

Question Number : 84 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

widrgla 4B 2l (ILO) 4 v was -l
AL 2L 2l BRd 67
Options:

1 -4

Qcollegeduniag



ARG

3 diziled DC

4, bl

Question Number : 85 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Topographical map of an area is used to
understand :

Options:
1 Landform

2 Population Density

3 Economic Activity

4 Climate

Question Number : 85 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

T 219 & S as (Topographical) BEl
=1 =91 THEA & fera Sogn fan s 2 2
Options:

1. Y-3TFfa

2 SAEEA 1 T
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3 sTfiE ity

4,

Question Number : 85 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

25 (e Al etlauglsy (Racglds)-sil 9
HHeredl M2 UL 2 87
Options:

1, Aol (o)

2 e-cllall21etl

3 ulls uylx

4], gL

Question Number : 86 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

With what amongst the given option is “The
White Revolution” in India associated ?

Options:
1 Rise in rice production

2 Cooperatives of milk producers

3 Cooperatives of paper mill workers



Rise in use of whilte marbles in
4' buildings

Question Number : 86 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

e & i i, F T e # 9 fro
gHfgd 8 ?

Options:

1 aEd % 39Ed H gfg

D, T IEH FH weHHl At

3. f e & T

4 oAl H Whe HTHH & e | giG

Question Number : 86 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

oz Ml ‘45E sl wd AR 2uia [Rseqisl
2] HsnuEd 6

Options:

1. il Gowip-ul sarl

2 54 Gowesi-l wesil vl

3. s B spsridl wesEl ol



A, MM A58 2ARUAL Gl <Rl

Question Number : 87 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Sustainable Development takes care of the
present and :

Options:
1 Community

2 ) Past

3 Population

4 Future

Question Number : 87 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Had a9 “IH TEdl & 9a9E 99

Options:
1, W
ol

3 SAHEA

4. wigsy =

Question Number : 87 Question Type: MCQ Option Shuffling: Yes )
Correct Marks: 4 WrongMarks: 1 Qﬁ&ﬂﬁ%ﬁfﬂﬂ'ﬁf



251G [dsta 519 3l 8 ddHid 21
Options:
1. HHEM

7 osa

3l

4, sl

Question Number : 88 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The Eastern coast of India is also known
as:

Options:
1 Bay of Bengal

2 Coromondal Coast

3 Konkan Coast

4 Bengal Coast

Question Number : 88 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

HITA 1 YAl 92 TH AH Y o A e
Options:

1. ST i @t
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2. FRHEd a2

3?‘1’@1?&3

4. A T2

Question Number : 88 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

oqiaAl Yl sist Alisisl 2is il saelldl
8.
Options:

1 el wigl

2 siaidsd sisl

3 51501 sisl

4, veud sigl

Question Number : 89 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Secondary sector economic activity is
related to :

Options:
1 Trade and commerce

2 Agriculture

gcollegeduniag



3' Indusltrial

4 Tourism

Question Number : 89 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

fgeira® &5 (Secondary sector) H1T4= Tfafafy
g T
Options:

1 =R UF 9=y

Question Number : 89 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

ol A ([gls 22) 2ulls w21 il
Woiftd & :

Options:

1. R 2 sl
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4, el (u2zA)

Question Number : 90 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Which was the most polluted city in India
in 2018 as per Central Pollution Control
Board ?

Options:
1 Lucknow

2 Ahmedabad
3 Gurugram

4 Patna

Question Number : 90 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Fald YEHY A 97 & STEE 9Ed H 2018

Y HaY AfYF qSfod et i 91 917
Options:

1. T

2. FERER

S: W

4. T
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Question Number : 90 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Segly ugnel (e Horm w111 2018 i sl
izl wy uglid 2z 24 &)

Options:

1. avu

7 “{HEIMLE

3 PAM (Gurugram)

4 YAl

Question Number : 91 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Find the correct match :

(P) Aligarh (I)  5ilk Sarees
(Q) Firozabad (II) Brass
product

(R) Kanjeevaram  (III} Bangles
(5) Moradabad (IV) Locks
Options:

1. @D, (Q-(I), (R)-(I), (S)}-(IV)

2. ([PFIV), (Q-(II), (R)-(D), (5)-(I0)

3. (P}, (Q-(IV), (R)-(T), (S)-(I)

4, PR, @Q)-[0), (RHIV), (5)-(IT)

Question Number : 91 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 4 WrongMarks: 1

T Toem wifew

(P) oiTe 0 e
(Q TrusIaTE ) ae % 3R
(R)  =Hisfaed ) e

(S) HueEE V) T

Options:

1. @)@, (Q)-(I), (R)-(I0), (S)-(IV)

2. (PR(IV), (Q-(I), (R)-(I), (S)-(0)

3. (P)-), (Q-(IV), (R)-(1), (S)-()

4. P)rUD, @Q)-0) (R}R(IV), 5)-(I)

Question Number : 91 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

il sAgl ziial ;

P bz M Bes adl
Q) [Brlzieus (M) B Gews
(R) slooay (T oioigldl

(S)  HREAE(HREWIE) (IV) dlou=i

Options:

1. @)D, (Q-(I), (R)-(II), (S)}-(TV)

2. (PRIV), (Q)-(Im), (R)~(D), (S)-(IT)

3. P)), (Q-(IV), (R)-(T), (S)-(I)
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4, PR, (Q)-[), (RR(IV), (5)-(IT)

Question Number : 92 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Rainfall (in mm}

\

Jan Feb Mar .-"'.IJT M'rl}' Jun Ju|}-‘ .-"\u&_rl f‘:;L’]'J Oct Nov Dec

The above graph depicts the average

monthly rainfall for a particular year in the

country XYZ. Select the incorrect option :
Options:

The driest months in the country are
1 December and January.

February-March have the same
average rainfall as October-
2' MNovember.

The country experiences the same
average monthly rainfall in the
3 months of May - June.

The wettest spell experienced by the
4 country is in the month of August.

Question Number : 92 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Qcollegedunia%



EL]l (mm ﬁ}

\
\

Jan =T-‘Eb=\.‘tar=ﬁ;1,?r=\-'[a; Jun i [1]'}'=AU1‘1’=E-L-PP= (:}L&:N::n.i D
I S@iEs XYZ <9 § fadt ad s
A 991 1 5901 & | Teld faseq g
Options:

<91 H H9H g "o femrEt a9 sait
1. @i

A A 3§ a{gd o9l It &1 2, fee
2 FERE-ATE A |

W H WE-SH ¥ WA H 99 oA
3 HifgE =i 6 AT g

ST & Ao H <9 A 999 A 991
4, N HTHE

Question Number : 92 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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YRHIE (mm )

\

Jan Feb IMarlﬂprIMayl Jtlnlju]}-'lﬁuglﬁepl Oct Nov Dec

22 XY Z Ul 245 vz ol Hie w1l Hlks druE
Guzel 2udvul guldd ©. Wi (e e
53 :
Options:
[S304n ot sl =1 sl el o
1. s

SoEl- el HREL RAUIE sz ler-
F AR sedl 8,

R-oped oAl H[EALHE 221 HHLA B3212L WIS
3 RUEAL 2N R B,

w2l HEAML 22l o Al qaE dmE
4 Al DA™ 2l

Question Number : 93 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1

Qcollegeduniag



Street Lighting
3|‘|r

Social Security .
16% Water f'}upph
; 28%
Educatianq—l—
10% /4
- Sanitation
e 20%
Roads

The above graph shows a municipality’s
expenditure on different services for the
financial year 2018-19. If the municipality
spent a total of Rs. 50 crore during this
period, the expenditure on ‘Education’
was:

Options:

Rs. 3 crores less than that spent on
1 ‘social security’.

Rs. 7 crores more than that spent on
2 ‘street lighting’

3 Es. 1 crore

4 Rs. 0.5 crore

Question Number : 93 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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S oErnEs a9 94 2018-19 F fou fim
W T U TR et & @ F a2
AT TR i1 4 59 919 H Fd T, 50 FIS
o Ty, o ‘foen’ wad
Options:

‘At e’ WEs 9%, 3w FH
1. o

‘TEwl i UVE W EHE 9w 7 FE

2. At an)
3 T1FE
4. % 0.5 Fe

Question Number : 93 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1



JELRCTEEEN
3%
wslers et

16% x sl yzed)

/ 28%

.- \

[Ziatsl | |

10% “": /

/.,/ el
* 0%
S
Tl
23%

Ausl of 2018 19 2 UUds1AL v ofElsyEl
Hetlll W2 GuzAl 2udvidl saldd 8. =1
UL B33 od WUlElst 59 30041 50 s31s Al
w2l 53 dl [Riel Gur wad gl
Options:
s s Guz udl Wl s3dl 30
1. 3525 ol

‘931 ciddor Guz udl vl szl 3MML 7
g S0

] 3[UMLT 5318

4. 305 5318

Question Number : 94 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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The figure shows floors as 1, 2, 3, 4 on each
plot A, B, C,D, E, F. Plot A, D and E are
commercial on all floors. B, C and F are
residential on all floors. Find the
percentage of total floors that are
commercial and residential respectively :

2
1)1

Floors
[A|B[C[D[E[F|
Plots
Options:
1. 60% and 40%

[#%]
|—tmw.&h|
I—LMUJ|-P-|

[E—

1]

2 40% and 60%

3 50% and 50%

i 10% and 90%

Question Number : 94 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1

Etga 9@ @ A, B, C, D, E, F R Afrai
F11,2, 3,4 50 W &I J@UE A, DANE
=+ T dfael =a@ifaw §1 B, C 941 F =i
[t il ErEE € | Fe dfae 1 9 gfave
T Hifore i1 foh S0 =i ag1 Aadg
g

2
1)1

EIE
[A[BIC|D[E[F|
qETs
Options:

= ba| s
h—lmmd‘—-|
R

1]
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1 60% T9140%

2 40% T=60%

3. S0% = 50%

10% 1 90%
4.

Question Number : 94 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

g wlz A,B,C,D,E, FGuwz W 1, 2,3, 4

wigldul sulda . Wiz A, D @ E 6w 225

Yo =4MIks 8. iz B,C 211 F Guz £35 W

2dells O, cdiilzs 2 zdulisHl e s Wl

25zl 454 2L,

£
1|1

i,
[A[B|C[D[E
e
Options:

1. 60% =1140%

Hmmﬂh|
n—tmm|m.|

3
2
1 1]

F]

3 40% 21 60%

3. 50% 1 50%



4. 10% 490 %

Question Number : 95 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Calculate the surface area of the solid
shown in the figure excluding the bottom

surface :
10 210
P e Y
-\-.-\-.-‘"\-\._\_\_H ! B -7 h-'"'“'-.h___h E
20 __J B ff,rf /]
% f;"- . Ir,f I|
F ETE""H / 7
éhﬁ'"‘"-n.,__ e’Iiefj’fde
10 ﬁ
Options:
1. 1000.36
2. 1223.60
3. 1227.40
4 1323.60

Question Number : 95 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

=9 9 & (bottom) & I = BrSd gC
a5 39 1 IS 43 i |

Options:

aaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaa



1. 1000.36

2 1223.60
3. 1227.40
4. 1323.60

Question Number : 95 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1
2Ll dledl 2wl cig s 2ugldul

eieldd W2l Bz Al aeeidl sl
D

10 —~-10
As™ i Tl

-
-
i
Fa

200 JB,

Options:
1. 1000.36

7 1223.60

3. 1227.40

v 1323.60
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Question Number : 96 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Following table gives the number of
households and their corresponding
monthly incomes. Whatwill be the average
monthly income of the household ?

5l. No. MNo. of M{}]"Ith]}r
Households Household
income (Rs)

1 300 20000
2 200 50000
3 150 100000
4 50 500000

Options:

1. 56000

2 67000

3. 70000

/L. 80000

Question Number : 96 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

=1 ol | ufEri #1 9 a9 T 59
e 1™ < T 71 ufEr %1 S| \ifas

T =1 B ?
% 4. qfarl il 4. ufram =1 g
A (%)
1 300 20000
. 200 50000
3 150 100000
4 50 500000
Options:
1. 56000

Qcollegeduniag



2 67000

3. 70000

4. 80000

Question Number : 96 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Al2d siresul syl vl wid dudl Wl
dsuedd RS 2uas 2 8. udeiHl
wa1aL Wiy 2uds 2] el

sH Aoz | aRidHl | gl ks
vy wis (30)

1 300 20000
2 200 50000
3 150 100000
4 50 500000

Options:

1. 56000

7 67000

3. 70000

4, 80000

Question Number : 97 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Qcollegeduniag



Read the given passage and answer the
questions.

‘Jatra” is a musical folk theatre art form,
popular in Bengali speaking areas of the Indian
sub-continent including Bangladesh, West
Bengal, Orissa, Assam and Bihar. The word ‘jatra’
means journey. While the original themes of
‘jatra” were largely religious, by the end of the
19th century, it began to include moral and later,
even secular themes. The survival of this folk art
form has been credited to its adaptability to
changing social contexts.

Which of the following is indicated in the given
paragraph ?
Options:

‘Jatra’ refers to the journey of all folk-
1 theatre forms in Bengal

‘Jatra” was performed originally in
2 religious buildings only

‘Jatra’ is popular in parts of India and
3 Bangladesh

‘Jatra’ came into existence in the 19th

4 centur}r

Question Number : 97 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Read the given passage and answer the
questions.

‘Jatra” is a musical folk theatre art form,
popular in Bengali speaking areas of the Indian
sub-continent including Bangladesh, West
Bengal, Orissa, Assam and Bihar. The word ‘jatra’
means journey. While the original themes of
‘jatra” were largely religious, by the end of the
19th century, it began to include moral and later,
even secular themes. The survival of this folk art
form has been credited to its adaptability to
changing social contexts.

Which of the following is indicated in the given
paragraph ?
Options:

‘Jatra” refers to the journey all folk-
1 theatre forms in Bengal

‘Jatra” was performed originally in
2 religious buildings only

3 gatra;aif.i p::ipu]a_r in parts of India and
] angladesh

‘Jatra” came into existence in the 19th
4 century

Question Number : 97 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Read the given passage and answer the
questions.

‘Jatra” is a musical folk theatre art form,
popular in Bengali speaking areas of the Indian
sub-continent including Bangladesh, West
Bengal, Orissa, Assam and Bihar. The word ‘jatra’
means journey. While the original themes of
‘jatra” were largely religious, by the end of the
19th century, it began to include moral and later,
even secular themes. The survival of this folk art
form has been credited to its adaptability to
changing social contexts.

Which of the following is indicated in the given
paragraph ?
Options:

‘Jatra’ refers to the journey of all folk-
1 theatre forms in Bengal

‘Jatra” was performed originally in
2 religious buildings only

’galmt'lra; 1.; pol{mia_r inparts of India and
3. glades

‘Jatra’ came into existence in the 19th
4 century

Question Number : 98 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Read the given passage and answer the
questions.

‘Jatra” is a musical folk theatre art form,
popular in Bengali speaking areas of the Indian
sub-continent including Bangladesh, West
Bengal, Orissa, Assam and Bihar. The word ‘jatra’
means journey. While the original themes of
‘jatra” were largely religious, by the end of the
1gth century, it began to include moral and later,
even secular themes. The survival of this folk art
form has been credited to its adaptability to
changing social contexts.

The passage attributes the continued popularity
of “jatra’ to.

Options:
1 the different social castes in Bengal

2 its flexibility in evolving its contents

3 its moral preachings

4 its beautiful folk music

Question Number : 98 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1

Read the given passage and answer the
questions.

‘Jatra” is a musical folk theatre art form,
popular in Bengali speaking areas of the Indian
sub-continent including Bangladesh, West
Bengal, Orissa, Assam and Bihar. The word ‘jatra’
means journey. While the original themes of
‘Jatra” were largely religious, by the end of the
19th century, it began to include moral and later,
even secular themes. The survival of this folk art
form has been credited to its adaptability to
changing social contexts.

The passage attributes the continued popularity
of “jatra’ to.

Options:

gcollegeduniag



-'| the different social castes in Bengal

2 its flexibility in evolving its contents

3 its moral preachings

4 its beautiful folk music

Question Number : 98 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Read the given passage and answer the
questions.

‘Jatra” is a musical folk theatre art form,
popular in Bengali speaking areas of the Indian
sub-continent including Bangladesh, West
Bengal, Orissa, Assam and Bihar. The word “jatra’
means journey. While the original themes of
‘jJatra” were largely religious, by the end of the
19th century, it began to include moral and later,
even secular themes. The survival of this folk art
form has been credited to its adaptability to
changing social contexts.

The passage attributes the continued popularity
of “jatra’ to.

Options:
1. the different social castes in Bengal

2 its flexibility in evolving its contents

3 its moral preachings
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4 its beautiful folk music

Question Number : 99 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Statement 1 :

Exposure to computer based learning is
common in most schools today.

Statement 11 :

Most jobs require at least basic computer
literacy.

Pick the correct option :

Options:
Statement 1 is the cause and
1 statement 11 is ils effect

Statement 11 is the cause and
2 statement 1 is its effect

Statements I and II are independent
3 effects

Statements 1 and Il are causes of some
4 common effect

Question Number : 99 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

CXENE

el ATaFHT Thell § P2l AT 926
=Rl HAETY {exposure}w%l

SIq 11 :

Afersray il F fou F9 | F9 SRy
FT FERAT AT 2 |
F‘?ﬂﬁ%@ﬂﬁﬂ:

Options:



FYA | AU & T4 A 11 S99

1. ®

FF 11 FU 2 91 F97 1 T9F 90ms

2 %

3 o | a9 11 T=as i 2 |

YA | 991 11 1w afomg & wem

4, ¥

Question Number : 99 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

(Aeiet 1 :

wler-AL il @ell 2uoni s3vger 2uafa
w0 1], DUAAREL (exposure) MM 8,
CRIERIE

dlzl ol AlsElaiul =lisml 2«08l yaed
5123 IERAL ¢33l ©.

Options:
(e 1 21 s1zeL 8 2 [Heud 11 =4 a-l
1. =2 B

[Elend 11 21 seL 5 2 Qe 121 ddl
7 owpR B,

3, [Eend 12 11 2 204l 9.
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[Sleateil 1241 11 526ls MM 2R4RLAL 51200

4. ®.

Question Number : 100 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

In a survey of tourists in a city, 120 tourists
were women of which 35% stayed in the
city for more than one day. Which of the
following is the correct conclusion for this
data ?
Options:
The majority of all tourists stay for
1 less than a day.

Average stay of women tourists is
2 approximately one day.

Approximately 35% of all tourists
3 stay for more than one day.

Approximately 35% of women
4 tourists stay for more than one day.

Question Number : 100 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

T Vet H Tl & UF Haev ¥, 120 THew
Tfgemd off fa= 9 35% Tt § U feq 9 s
e FAHS & fu R A A W
e T ®7
Options:

¥t s § wfuwis oF fo7 5 *+9
1. =@l



HfEell T 1 S5 S AH UF
2 faw

Tl THEE F AN A35% UF feA H
3, a2t g

Afee THZH F F935% UF T g
4. Afe 2Tl B

Question Number : 100 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1

w5 LUl wdzsiAL 2ls wdaeml, 120 el
Yleail edl 5 sruizdl 35% dadl 215 52l 9B
(et 2eedl el 20 wlEla wiz AR 2adamiEl

£ MR ARG S
Options:

izl LAl Ml 215 (B9 s2cl 21
1. ¢ ®.

Aleal uedlii UL A0 2R 215
2 Eaus.

ol o HelrilAlAL 202 35% @5 Sl
3. R B e s B

e Hetdl2ilAl 2U2E 35% 18 Sl HUR
A, ot e s 9.
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Section 1d :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Sub-Section Number:
Sub-Section I d:
Question Shuffling Allowed :

Question Number : 101 Question Type: SUBJECTIVE
Correct Marks: 50

In the space provided for the answer of this
question, draw an aesthetic composition
appropriate to this space using only
equilateral triangles. There is no restriction
to numbers, sizes, placement and directions
of these shapes. Color this composition so

that it becomes visually exciting,.

Question Number : 101 Question Type: SUBJECTIVE
Correct Marks: 50

TH W % 39 F o YgH &I TE 9E H,
A FHGed AT 1 ST Fh 56 =H
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Question Number : 101 Question Type: SUBJECTIVE
Correct Marks: 50
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Question Number : 102 Question Type: SUBJECTIVE
Correct Marks: 50
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Draw from imagination a mother cooking
in the kitchen.

OR
Draw from imagination a beautiful
building,

OR

Draw from memory the face of one of your

par ent.

Question Number : 102 Question Type: SUBJECTIVE
Correct Marks: 50
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Question Number : 102 Question Type: SUBJECTIVE
Correct Marks: 50
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